Lecture 11 – International trade – Additional problems
1.
Suppose a country can produce a maximum of 2,400 bushels of corn or 800 DVD players.


a) What is the opportunity cost of a DVD player?

b) If another country offers to trade 100 bushels of corn for 50 DVD players, should the offer be accepted?


c) What are the implied terms of trade?

2.
 If it takes 120 farm workers to harvest one ton of strawberries and 24 farm workers to harvest one ton of wheat, what is the opportunity cost of producing 7 tons of strawberries?

3.
The following are production possibilities for El Salvador and Brazil. 
 
	Product
	El Salvador 's Production Possibilities

	 
	A
	B
	C
	D
	E

	Copper (in tons)
	17
	15
	12
	10
	0

	Coffee  (in lbs.)
	0
	2
	5
	7
	17


 
	Product
	Brazil's Production Possibilities

	 
	R
	S
	T
	U
	V

	Copper (in tons)
	100
	84
	52
	36
	0

	Coffee  (in lbs.)
	0
	4
	12
	16
	25


 
 

a)  Are comparative cost conditions such that the two countries should trade? If so, which nation has a comparative advantage in copper and which in coffee?

b) Which nation has an absolute advantage in copper? And in coffee?


c) For trade to be mutually beneficial, what should be the limits of the terms of trade?

4.
Assume that U.S. can produce BMW X3 at a cost of $36,000 per car and Mustangs at $24,000 per car. In Germany, BMW X3s can be produced at 30,000 euros and Mustangs at 10,000 euros. 


a) In terms of Mustangs, what is the opportunity cost of producing one BMW in each country? 


b) Who has a comparative advantage in producing BMWs? 


c) What should be the limits to the terms of trade for BMWs?

5.
The world price of athletic shoes is Pw, as shown in the graph below of the domestic market for athletic shoes. Assume that the U.S. government imposes a tariff t, to protect domestic footwear producers. Demonstrate the following for this tariff on the graph below:






a) Identify the gains to domestic producers.


b) Identify the costs to domestic producers.


c) Identify the revenue to government.


d) Overall, show how the domestic producers gain from this.

Answers:
1.
a) 1 DVD player = 2400/800 = 3 bushels of corn

b) 100 bushels of corn from the other country = 33 DVD players in terms of the country’s opportunity cost, so the offer should be accepted.

c) For the trade offered by the other country are 1 DVD player  = 2 bushels of corn.

2.
Opportunity cost of producing one ton of strawberries = 120/24 = 5 tons of wheat. Therefore, opportunity cost of producing 7 tons of strawberries is 35 tons of wheat (5 X 7).

3.
a) Opportunity cost of producing one pound of coffee:



= 1 copper in El Salvador 



= 4 copper in Brazil


Yes, since opportunity costs differ, they benefit from trade. El Salvador has a lower opportunity cost in making coffee and Brazil in copper.


b) Brazil is more productive in both the products.


c) One coffee should trade for more than one copper and less than 4 copper for both the nations to benefit from trade.

4.
a) Opportunity cost of making one BMW X3:



= 1.5 Mustangs in the U.S.



= 3 Mustangs in Germany


b) Since U.S. has a lower opportunity cost in making BMW X3s, it has a comparative advantage in making them.


c) Terms of trade: One BMW should trade for more than 1.5 Mustangs and less than 3 Mustangs for both the nations to benefit from trade.
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